
MDSF Single-Point
Template Slide

Operating Instructions

Copyright © 2022 E.H. Wachs. All rights reserved.
This manual may not be reproduced in whole or in part

without the written consent of E.H. Wachs.

E.H. Wachs
600 Knightsbridge Parkway
Lincolnshire, IL  60069
www.ehwachs.com

E.H. Wachs Part No. 69-SPTS-MAN-01





 MDSF Single-Point Template Slide

E.H. Wachs Part No. 69-SPTS-MAN-01, Rev. A 1

MDSF Single-Point Template Slide

SINGLE-POINT TEMPLATE SLIDE APPLICATION
The MDSF single-point template slide is designed to perform beveling of heavy-wall pipe after 
pipe cut-off. The slide can be used with any size MDSF model 12” and larger (models 612 and 
up). 

The single-point template slide includes the following operating components and features:

• Standard MDSF heavy-wall parting slide (69-4635-03), which mounts directly to MDSF 
rotating ring.

• Radial feed system that operates using standard MDSF trips.
• Axial positioning mechanism with a hand crank and tool head scale.
• Adjustable tool post with tool insert holder.
• Prep angle module with two adjustable angles for compound beveling.

The photo below shows the components of the single-point slide in its storage case.

Figure 1-1.  The photo shows the 
components of the single-point 
slide in its storage case.



MDSF Single-Point Template Slide

2 Part No. 69-SPTS-MAN-01, Rev. A E.H. Wachs

Operating Overview: Cutoff and End Prep

The single-point template slide is typically used in the cutoff/end prep procedure on heavy-wall 
pipe:

• Cutoff using MDSF with standard or heavy-wall parting slides.
• Counterbore using MDSF with 3” or 6” counterbore module.
• Bevel using MDSF with single-point template slide.

Figure 1-2.  The photo shows the 
major components of the single-
point slide. Assemble the slide 
when mounting it on the MDSF.

Figure 1-3.  The photo shows the 
operating components of the sin-
gle-point module.

Single 
point 
module

Selectable profile 
template module

Trip and 
mounting posts

Radial feed slide with 
template mount

Trip mounting 
extensions

Hand tools

Axial position 
crank handle

Gas spring lock L3

Gas spring

Tool head scale

Tool post 
lock L1

Tool post 
stop collar

Tool post

Tool head 
lock L2

Tool holder 
mount



 MDSF Single-Point Template Slide

E.H. Wachs Part No. 69-SPTS-MAN-01, Rev. A 3

Leave the MDSF mounted in position after the cut-off operation, and perform the end prep opera-
tion(s) as follows. Be sure to disconnect power to the MDSF during all set-up procedures.

• Remove one of the parting slides from the MDSF. 
• If a counterbore is required, perform the counterbore operation using an MDSF counterbore 

module, mounted on the parting slide. See instructions in the MDSF User’s Manual.
• Install the single-point template slide at the available slide mounting location and configure it 

for the specified bevel. (Counterbore module can remain mounted as a counterbalance if 
required.)

• Perform the bevel according to the instructions in this manual.

Figure 1-4.  The photo shows the typical setup for end prep procedures. 

• Counterbore module is mounted on one parting slide to counterbore after cutoff. 
• Single-point template slide is mounted at the opposite slide position to bevel after counterbor-

ing.

Counterbore module 
on parting slide

Single point 
template slide

MDSF mounted for 
cutoff, counterbore, 
and beveling



MDSF Single-Point Template Slide

4 Part No. 69-SPTS-MAN-01, Rev. A E.H. Wachs

MDSF SETUP AND PARTING/COUNTERBORE OPERATIONS
Perform the cutoff and counterbore operations as described below, before doing the bevel.

1. Mount the MDSF to the pipe 
according to instructions in 
the DynaPrep MDSF User’s 
Manual.

2. Perform the cut-off opera-
tion. The diagram shows the 
completed cutoff.

3. Leave the MDSF mounted at 
the same location after cut-
off.

• If the pipe is open-ended and 
parting is not required, position 
the MDSF with the face of the 
rotating ring a maximum of 
2.375” back from the end of the 
desired weld prep.

4. If a counterbore is required, 
perform the counterbore 
before the single-point bevel 
operation.

• Use either the 3” counterbore 
module (69-4605-00) or the 6” 
counterbore module (69-4606-
00), depending on require-
ments.

• Mount the counterbore module 
to one of the parting slides. 
Remove the other parting slide.

• See counterbore instructions in 
the MDSF User’s Manual.

5. After you complete the coun-
terbore, you can remove the 
counterbore module, or leave 
it mounted for a counterbal-
ance.



 MDSF Single-Point Template Slide

E.H. Wachs Part No. 69-SPTS-MAN-01, Rev. A 5

BEVELING SETUP AND OPERATION

Installing the Tooling

Assembling and Mounting the Single-Point Template Slide

You can assemble the single-point slide on a workbench and then mount it to the MDSF for oper-
ation. However, it is generally easiest to assemble it piece-by-piece on the MDSF, as described in 
this section:

• Mount the radial feed slide supplied with this kit (with attached template mount) to one of the 
slide mounting positions on the MDSF.

• Mount the single point module to the radial feed slide.
• After configuring the single point module for the bevel profile, mount the selectable profile 

template module to the radial feed slide.

1. Mount the tool bit to the tool 
insert holder as shown.

• Install only 1 bit, at the beveling 
tool location.

• Tighten the screw securely 
using the supplied torx wrench.

• NOTE: the tool bits are 2-sided 
and reversible. Flip the bit over 
to use both cutting surfaces.

2. Mount the tool insert holder 
on the bottom of the tool 
post.

• Center the insert holder in the 
mounting slot, as shown.

• Press the holder firmly into the 
slot, and securely tighten the 
tool holder screw.

Beveling tool 
mounting location



MDSF Single-Point Template Slide

6 Part No. 69-SPTS-MAN-01, Rev. A E.H. Wachs

1. Mount the radial feed slide 
(with template mount) to the 
available slide mounting 
position on the MDSF.

2. Loosen the 4 screws in the 
tool slide clamp. 

Radial feed slide 
with template 
mount



 MDSF Single-Point Template Slide

E.H. Wachs Part No. 69-SPTS-MAN-01, Rev. A 7

3. Slide the dovetail base of the 
single point module into the 
male slide. 

• Make sure the slide is posi-
tioned so that it has enough 
stroke to reach both the OD and 
ID of the pipe.

4. Tighten the 4 screws in the 
tool slide clamp. 



MDSF Single-Point Template Slide

8 Part No. 69-SPTS-MAN-01, Rev. A E.H. Wachs

Setting the Bevel Profile

1. Loosen the L1 tool post lock-
ing screw.

2. Retract the tool post so that 
the tool bit does not contact 
the pipe face.

3. Advance the radial feed slide 
to position the tip of the tool 
bit at the transition point on 
the pipe face.

• You can disengage the feed 
knob on the slide and use the 
rapid feed.

• Typically, the transition point is 
0.75” from the ID.

• Refer to the prep specification 
for angles and dimensions.

4. Push the tool post in to set 
the tip of the tool against the 
pipe surface.

L1 lock 
screw

Beveling cutting insert

0.75” (or speci-
fied transition 
point)



 MDSF Single-Point Template Slide

E.H. Wachs Part No. 69-SPTS-MAN-01, Rev. A 9

Configure and Mount the 
Template Module

Do not move the radial feed slide 
position until you complete this 
procedure.

1. Set both bevel angles on the 
template module.

• Loosen the angle 1 lock screw, 
move it so the indicator on the 
screw is at the required angle, 
and tighten the screw.

• Loosen the angle 2 lock screw, 
move it so the indicator on the 
screw is at the required angle, 
and tighten the screw.

2. Loosen the 2 screws in the 
template module clamp. 

Angle 2 
lock screw

Angle 1 
lock screw



MDSF Single-Point Template Slide

10 Part No. 69-SPTS-MAN-01, Rev. A E.H. Wachs

3. Attach the template module 
to the template mount on the 
radial feed slide.

• Slide the template module onto 
the mount from the ID side of 
the slide.

4. If necessary, turn the axial 
position crank clockwise to 
move the follower toward the 
template, so that it contacts 
the Angle 1 plate.

5. While pushing the template 
module toward the OD, turn 
the crank counter-clockwise 
to retract the follower

6. Stop when the follower 
reaches the intersection 
point, and is touching both 
template plates.

7. Tighten the template module 
clamp screws.

• Do not re-adjust the template 
module position.

Set the Land Thickness/Final 
Pass Cut Position

1. Advance the radial feed slide 
to position the tip of the tool 
bit above the land position on 
the pipe face.

• The tool will move away from 
the pipe face as the follower 
moves up the template.

2. Push the tool post in until the 
tip of the tool bit touches the 
pipe.

• Check to make sure the tip of 
the tool bit is touching the pipe 
at the land position. Adjust the 
radial feed slide if necessary.

Template module clamp screws

Follower set at intersection point 
(contacting both template plates

Set tool bit back from ID for 
required land thickness



 MDSF Single-Point Template Slide

E.H. Wachs Part No. 69-SPTS-MAN-01, Rev. A 11

3. Loosen the tool post stop col-
lar and push it down against 
the top of the tool post hous-
ing. Clamp the stop collar in 
place.

• Once you set the stop collar 
position, do not move it again 
until you have completed the 
beveling operation.

4. Pull the tool post up all the 
way.

5. Retract the radial feed slide 
to move the tool bit out past 
the pipe O.D. 

• Stop retracting when the tool is 
about 0.25” outside the O.D.

6. Re-engage the fine feed knob 
on the radial feed slide.

Tool post 
housing

Tool post 
stop collar

Tool bit outside ID of pipe



MDSF Single-Point Template Slide

12 Part No. 69-SPTS-MAN-01, Rev. A E.H. Wachs

Set the Follower on the 
Template

1. Make sure lock L1, lock L2, 
and lock L3 are all loosened.

• NOTE: L2 and L3 will remain 
loose through the entire bevel-
ing procedure.

2. Turn the crank handle clock-
wise until the follower con-
tacts the Angle #1 template 
plate.

3. Turn the crank handle clock-
wise an additional 1-2 turns 
after contact.

Perform the Bevel Pass

1. Mount the trip assembly at 
the correct height for slide 
position.

• Mount one trip assembly for 
feed rate of 0.003” to 0.006” (1 
or 2 trips).

• Mount two trip assemblies for 
feed rate of 0.009” to 0.012” (3 
or 4 trips).

Trip 
assembly 
mounted



 MDSF Single-Point Template Slide

E.H. Wachs Part No. 69-SPTS-MAN-01, Rev. A 13

• Move the tool post farther in for each pass, to set the cut 
pass depth. Make sure to tighten the L1 lock screw before 
cutting.

2. Position the tool post to the 
desired depth of cut for the 
first pass. 

• Set the cut depth for each pass 
to about 3-5 mm (about 1/8”-3/
16”). 

• Use the scale on the tool post, 
labeled in mm. Each mark is 2 
mm.

• Lighter cut depths will result in a 
better finish. Do not cut more 
than 6 mm (0.25”) per pass.

3. Tighten lock L1.

4. Enable the MDSF trip pins.

• NOTE: 2-4 trips pins are recom-
mended for single-point bevel-
ing.

• The photo shows the scale on 
the tool post, which you can use 
when setting the cut depth.

Loosen L1 lock screw 
to move tool post

Set tool bit along OD to 
desired cut pass depth



MDSF Single-Point Template Slide

14 Part No. 69-SPTS-MAN-01, Rev. A E.H. Wachs

DRAWINGS
The drawings on the following pages illustrate the main assemblies and their components.

5. Start the machine and oper-
ate it until the machining 
pass is complete. The tool bit 
will exit the face of the pipe 
as the follower moves up the 
template angle.

6. Retract the radial feed slide 
so that the tool bit is again 
about 1/4” past the OD of the 
pipe. 

7. Reset the tool post position 
for the depth of the next cut 
pass (Steps 1-2 above).

8. On the final pass, the tool 
post will be pushed in all the 
way, so that the tool post stop 
collar is against the top of the 
tool post housing.

• Do not change the position of 
the stop collar on the tool 
post during the beveling oper-
ation.

9. Operate the MDSF until the 
tool bit exits the pipe face at 
the land location.

Final pass: tool post pushed in 
all the way to stop collar



8

7

6

9

4

(SEE NOTES)

(SEE NOTES)

14

2

1

13

5

NOTES:
ASSEMBLE TEMPLATE MOUNT TO WORM SLIDE BEFORE INSTALLING INTO CASE.1.

3

12

SCALE 1:10

B

B

REV. DESCRIPTION DATE APR.

REVISION HISTORY

B REVISED B.O.M.; ECO 5223 10/19/2022 BC

A RELEASED ECO 4116 1/5/2022 BC

ITEM PART NUMBER QTY DESCRIPTION

1 69-0071-00 1 BAR, TRIP POSITIONING 6"- 24"
2 69-0232-00 1 BAR, TRIP POSITIONING 28"-60"
3 69-3018-00 1 TRIP, MANUAL OPERATION
4 69-3019-00 2 ADAPTER ASSEMBLY, TRIP-5.50"
5 69-3131-00 1 SELECTABLE PROFILE PREP MODULE
6 69-3132-00 1 ASSEMBLY, TEMPLATE MOUNT
7 69-3140-00 1 BASE UNIT, SINGLE POINT SLIDE
8 69-4210-00 1 CASE ASSEMBLY, SINGLE POINT SLIDE
9 69-4635-03 1 WORM SLIDE, .003" FEED AND 3.50" STK
10 69-LIT-07 1 SINGLE POINT TEMPLATE SLIDE-QUICK SETUP (NOT SHOWN)
11 69-MAN-03 1 MANUAL, SINGLE POINT TEMPLATE SLIDE (NOT SHOWN)
12 90-1010-16 2 SHCS, M8 X 1.25MM X 16MM CLASS 12.9 BLACK OXIDE
13 90-800-70 1 SCALE, 6"
14 90-8000-00 1 WRENCH, 13MM OPEN/FLEX-END

SIZE

B
REV.DWG. NO.

69-5430-00

DRAWN BY APPROVED BY

DATE DATE

SCALE

SHEET

1:8

1 OF 1

TITLE

PROPRIETARY AND CONFIDENTIAL: THE INFORMATION CONTAINED IN THIS DRAWING IS THE 
SOLE PROPERTY OF E.H. WACHS. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF E.H. WACHS IS PROHIBITED.

UNLESS OTHERWISE SPECIFIED: TOLERANCES:
FRACTIONS 1/32
ONE PLACE DECIMAL .015
TWO PLACE DECIMAL .010
THREE PLACE DECIMAL .005
ANGULAR 15 MIN.DO NOT SCALE DRAWING.

E.H. WACHS WORKMANSHIP STANDARDS (WI 17-01)
SHALL APPLY TO ALL ITEMS NOT SPECIFIED ON DRAWING.

E.H. WACHS

BC

SINGLE POINT TEMPLATE SLIDE KIT

RC

01-05-22 01-05-22

B

 ALL DIMENSIONS ARE IN INCHES.

600 Knightsbridge Parkway
Lincolnshire, IL 60069
www.ehwachs.com



5
10

4

2
1

6

9

3

11

7

8

REV. DESCRIPTION DATE APR.

REVISION HISTORY

A RELEASED ECO 4116 12/1/2021 BC

ITEM PART NUMBER DESCRIPTION

1 69-0450-00 2 WASHER, ANGULAR INDICATING
2 69-0460-00 2 NUT, PIVOT
3 69-0508-00 1 PLATE, TEMPLATE BASE GUIDE
4 69-0509-00 1 PLATE, CLAMP
5 69-0510-00 2 SCREW, CAPTIVATED M8
6 69-0511-00 1 BASE, ADJUSTABLE TEMPLATE
7 69-3129-00 1 ASSEMBLY, 0-45 DEG. PROFILE
8 69-3130-00 1 ASSEMBLY, 0-20 DEG. PROFILE
9 90-1014-30 1 PIN, 10MM X 30MM DOWEL
10 90-1017-03 2 WASHER, M8 FLAT GRADE 9
11 90-1069-20 2 SHCS, M6 X 1MM X 20MM CLASS 12.9

SIZE

B
REV.DWG. NO.

69-3131-00

DRAWN BY APPROVED BY

DATE DATE

SCALE

SHEET

1:2

1 OF 1

TITLE

PROPRIETARY AND CONFIDENTIAL: THE INFORMATION CONTAINED IN THIS DRAWING IS THE 
SOLE PROPERTY OF E.H. WACHS. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF E.H. WACHS IS PROHIBITED.

UNLESS OTHERWISE SPECIFIED: TOLERANCES:
FRACTIONS 1/32
ONE PLACE DECIMAL .015
TWO PLACE DECIMAL .010
THREE PLACE DECIMAL .005
ANGULAR 15 MIN.DO NOT SCALE DRAWING.

E.H. WACHS WORKMANSHIP STANDARDS (WI 17-01)
SHALL APPLY TO ALL ITEMS NOT SPECIFIED ON DRAWING.

E.H. WACHS

ROY C.

SELECTABLE PROFILE PREP MODULE

ROY C.

01/18/2021 01/18/2021

A

 ALL DIMENSIONS ARE IN INCHES.

600 Knightsbridge Parkway
Lincolnshire, IL 60069
www.ehwachs.com



11

18

14

4

10

13

16

7

3

15

6

5

20

8

9

19

2

18

12

1
17

HAND DRILL 4-HOLES, .086 DIA. X .25 .03 DEEP TO 
INSTALL NAMEPLATE IN APPROX. LOCATION SHOWN.

REV. DESCRIPTION DATE APR.

REVISION HISTORY

A RELEASED ECO 4116 12/2/2021 BC

ITEM PART NUMBER QTY DESCRIPTION

1 21-014-00 1 NAME PLATE
2 69-0516-00 1 SCREW, SIDE LOCK
3 69-0534-00 1 COVER, BAR & SPRING LOCK
4 69-0535-00 1 WORM GEAR, THREADED
5 69-0536-00 1 BLOCK, WORM RETAINING
6 69-0537-00 1 SCREW, SIDE LOCK
7 69-0538-00 1 WORM, 24 DP - QUAD START MODIFIED
8 69-0539-00 1 HANDLE, CRANK MODIFIED
9 69-0540-00 1 CAPTIVATED, M6 X 30mm LONG SHCS
10 69-0541-00 1 THRUST BEARING, MODIFIED
11 69-3135-00 1 ASSEMBLY, TOOL HEAD
12 69-3136-00 1 ADAPTOR, C'BORE SLIDE
13 69-3137-00 1 ASSEMBLY, ADJUSTABLE GAS SPRING
14 69-3139-00 1 SADDLE, SINGLE POINT SLIDE
15 69-8158-00 1 SLEEVE BEARING, 5/8 OD X 1/2 ID X 3/8 LG
16 69-8160-00 1 FLANGE BEARING, 3/8 OD X 1/4 ID X 1/4 LG
17 90-049-06 4 SCREW, #2-3/16 U-DRIVE
18 90-1069-16 8 SHCS, M6 X 1MM X 16MM CLASS 12.9
19 90-1069-20 4 SHCS, M6 X 1MM X 20MM CLASS 12.9
20 90-1069-35 2 SHCS, M6 X 1MM X 35MM CLASS 12.9

A A

BB

CC

DD

EE

FF

8

8 7

7

6

6

5

5

4

4

3

3

2

2 1

1

SIZE

C
REV.DWG. NO.

69-3140-00

DRAWN BY APPROVED BY

DATE DATE

SCALE

SHEET

1:2

1 OF 1

TITLE

PROPRIETARY AND CONFIDENTIAL: THE INFORMATION CONTAINED IN THIS DRAWING IS THE 
SOLE PROPERTY OF E.H. WACHS. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF E.H. WACHS IS PROHIBITED.

UNLESS OTHERWISE SPECIFIED: TOLERANCES:
FRACTIONS 1/32
ONE PLACE DECIMAL .015
TWO PLACE DECIMAL .010
THREE PLACE DECIMAL .005
ANGULAR 15 MIN.DO NOT SCALE DRAWING.

E.H. WACHS WORKMANSHIP STANDARDS (WI 17-01)
SHALL APPLY TO ALL ITEMS NOT SPECIFIED ON DRAWING.

E.H. WACHS
600 Knightsbridge Parkway

Lincolnshire, IL 60069
www.ehwachs.com

BC

BASE UNIT, SINGLE POINT SLIDE

RC

06-30-21 06-30-21

A

 ALL DIMENSIONS ARE IN INCHES.



5

6

2

1

7

3

4

REV. DESCRIPTION DATE APR.

REVISION HISTORY

A RELEASED ECO 4116 12/1/2021 BC

ITEM PART NUMBER DESCRIPTION

1 69-0451-00 1 WIPER, FELT WICK
2 69-0520-00 1 PLATE, TUBE RETAINING
3 69-3133-00 1 ASSEMBLY, QUILL HOUSING
4 69-3134-00 1 C'BORE BAR ASSEMBLY, 2"
5 69-8149-00 1 CLAMP, COLLAR
6 90-1069-16 4 SHCS, M6 X 1MM X 16MM CLASS 12.9
7 90-1069-60 4 SHCS, M6 X 1MM X 60MM CLASS 12.9

SIZE

B
REV.DWG. NO.

69-3135-00

DRAWN BY APPROVED BY

DATE DATE

SCALE

SHEET

1:2

1 OF 1

TITLE

PROPRIETARY AND CONFIDENTIAL: THE INFORMATION CONTAINED IN THIS DRAWING IS THE 
SOLE PROPERTY OF E.H. WACHS. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF E.H. WACHS IS PROHIBITED.

UNLESS OTHERWISE SPECIFIED: TOLERANCES:
FRACTIONS 1/32
ONE PLACE DECIMAL .015
TWO PLACE DECIMAL .010
THREE PLACE DECIMAL .005
ANGULAR 15 MIN.DO NOT SCALE DRAWING.

E.H. WACHS WORKMANSHIP STANDARDS (WI 17-01)
SHALL APPLY TO ALL ITEMS NOT SPECIFIED ON DRAWING.

E.H. WACHS

ROY C.

ASSEMBLY, TOOL HEAD

ROY C.

02/06/2020 02/06/2020

A

 ALL DIMENSIONS ARE IN INCHES.

600 Knightsbridge Parkway
Lincolnshire, IL 60069
www.ehwachs.com



5

4

2 3 1

6

REV. DESCRIPTION DATE APR.

REVISION HISTORY

A RELEASED ECO 4116 12/1/2021 BC

ITEM PART NUMBER QTY DESCRIPTION

1 69-0252-00 1 SCREW, CAPTIVATED M8
2 69-0442-00 1 PLATE, CLAMP
3 69-0443-00 1 WASHER
4 69-0518-00 1 BAR, C'BORE 2"
5 69-0519-00 1 STOP, TOOL POST
6 90-1006-16 3 FHCS, M6 X 1MM X 16MM CLASS 10.9

SIZE

A
REV.DWG. NO.

69-3134-00

DRAWN BY APPROVED BY

DATE DATE

SCALE

SHEET

1:3

1 OF 1

TITLE

PROPRIETARY AND CONFIDENTIAL: THE INFORMATION CONTAINED IN THIS DRAWING IS THE 
SOLE PROPERTY OF E.H. WACHS. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF E.H. WACHS IS PROHIBITED.

UNLESS OTHERWISE SPECIFIED: TOLERANCES:
FRACTIONS 1/32
ONE PLACE DECIMAL .015
TWO PLACE DECIMAL .010
THREE PLACE DECIMAL .005
ANGULAR 15 MIN.DO NOT SCALE DRAWING.

E.H. WACHS WORKMANSHIP STANDARDS (WI 17-01)
SHALL APPLY TO ALL ITEMS NOT SPECIFIED ON DRAWING.

E.H. WACHS
600 Knightsbridge Parkway

Lincolnshire, IL 60069
www.ehwachs.com

ROY C.

C'BORE BAR ASSEMBLY, 2"

ROY C.

02/04/2020 02/04/2020

A

 ALL DIMENSIONS ARE IN INCHES.



11

11

8

13

7

6

10

13

13

4

7

11

2

12

5 11

3

11

13 10

1 9

REV. DESCRIPTION DATE APR.

REVISION HISTORY

A RELEASED ECO 4116 12/2/2021 BC

ITEM PART NUMBER QTY DESCRIPTION

1 69-0527-00 1 CLAMP, BEARING BLOCK
2 69-0528-00 2 RAIL, GUIDE
3 69-0529-00 1 RAIL, CLAMP
4 69-0530-00 1 PLATE, SLIDE SADDLE
5 69-0531-00 1 PLATE, SPRING SIDE
6 69-0532-00 1 BASE, TEMPLATE SLIDE MOUNTING
7 69-0533-00 2 LINEAR BEARING, MODIFIED
8 69-3138-00 1 TEMPLATE SIDE PLATE ASSEMBLY
9 90-1001-16 3 SHCS, M5 X 0.8MM X 16MM CLASS 12.9
10 90-1023-16 16 SHCS, M4 X 0.7MM X 16MM CLASS 12.9
11 90-1069-12 16 SHCS, M6 X 1MM X 12MM CLASS 12.9
12 90-1082-10 6 FHCS, M5 X 0.8MM X 10MM CLASS 10.9
13 90-1083-16 4 PIN, 6MM X 16MM ROLL SS18-8

A A

BB

CC

DD

EE

FF

8

8 7

7

6

6

5

5

4

4

3

3

2

2 1

1

SIZE

C
REV.DWG. NO.

69-3139-00

DRAWN BY APPROVED BY

DATE DATE

SCALE

SHEET

1:2

1 OF 1

TITLE

PROPRIETARY AND CONFIDENTIAL: THE INFORMATION CONTAINED IN THIS DRAWING IS THE 
SOLE PROPERTY OF E.H. WACHS. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF E.H. WACHS IS PROHIBITED.

UNLESS OTHERWISE SPECIFIED: TOLERANCES:
FRACTIONS 1/32
ONE PLACE DECIMAL .015
TWO PLACE DECIMAL .010
THREE PLACE DECIMAL .005
ANGULAR 15 MIN.DO NOT SCALE DRAWING.

E.H. WACHS WORKMANSHIP STANDARDS (WI 17-01)
SHALL APPLY TO ALL ITEMS NOT SPECIFIED ON DRAWING.

E.H. WACHS
600 Knightsbridge Parkway

Lincolnshire, IL 60069
www.ehwachs.com

BC

SADDLE, SINGLE POINT SLIDE

RC

06-28-21 06-28-21

A

 ALL DIMENSIONS ARE IN INCHES.






	MDSF Single-Point Template Slide
	Single-Point Template Slide Application
	Operating Overview: Cutoff and End Prep

	MDSF Setup and Parting/Counterbore Operations
	Beveling Setup and Operation
	Installing the Tooling
	Assembling and Mounting the Single-Point Template Slide
	Setting the Bevel Profile
	Configure and Mount the Template Module
	Set the Land Thickness/Final Pass Cut Position

	Set the Follower on the Template
	Perform the Bevel Pass


	Blank Page

